ltem	Unit Price	Units Requested	<u>Total</u>
Midnight Navy Daily Wear Shirt	71.88	54	3,881.52
Embroider Collar "P.D."	13.75	54	742.50
Embroider "Name"	7.50	54	405.00
Embroider "Badge"	10.50	54	567.00
		Total	\$5,596.02
Midnight Navy Daily Wear Pant	81.24	54	\$4,386.96
Winter Coat (Inner and Outer)	235.50	18	4,239.00
Heat Seal "POLICE"	12.50	54	675.00
		Total	\$4,914.00
Traffic Vest "POLICE"	64.59	18	\$1,162.62
Raincoat (Reversable)	83.39	17	1,417.63
Heat Seal "POLICE"	12.50	34	425.00
		Total	\$1,842.63
Bullet Resistant Vest	1,295.97	8	10,367.76
Shoulder Patches	2.75	300	825.00
		Grand Total	\$18,727.23



CX360 Elbeco Short Sleeve Shirt (Midnight Navy) Fabric: 100% Polyester with 16% 4-Way Stretch Weight: 4.5 oz./sq. yard



UV protection – UVF 50 Concealed front zip closure Flex underarm mesh vents for added ventilation and motion Comms wire pass through under shoulder strap Mic loop on front placket accommodates mic clip or c Permanent creases ensure clean lines Stretch wrinkle-free fabric provides all-day comfort Machine washable



CX360 Elbeco 5 Pocket Pant (Midnight Navy)

Material: 100% Polyester with 16% 4-Way Stretch, Weight: 6.3 oz. Nano Fluid Repellency technology allows fluids to bead up and roll Wrinkle-free, anti-pill fabric for a polished look

5 Pockets including:

Notched front pockets with reinforced bottom1 to hold a clip knife Left pocket has a security pocket set in the pocket bag closed with zipper

Cellphone pocket on the wearer's left side

Closure: Brass spring snap with a gun metal finish snap cap

5 Belt Loops: 1" wide of double thickness with stitching on a face s from each edge

Waistband: Covert expandable waistband with 2" stretch Gusseted crotch for enhanced mobility and comfort



71DX1 Gerber Thriller SX Reversible Coat w/Soft Waterproof / Breathable, Reversible jacket BioTex Blood Born Pathogen Resistant Barrier ASTM ANSI 107:2010 Class 3 Compliant Black Edge Reflective trim Patch pleat pocket w/ scalloped flaps Set in Hand Warmer Pockets on Lime Yellow Side



Concealable hood stows in zippered pocket in collar Stand Up collar Removable SX Soft Shell Liner / Jacket can be worn or zipped in for warmth Waterproof soft shell outer fabric Crushed fleece interior for warmth



Hi-vis yellow breathable background fabric is fade res Hi-contrast SCOTCHLITETM stripes for day/night vis Breakaway design comes apart at shoulders and wai prevent entanglement with car mirrors and attackers 360 degree reflective coverage Has black "POLICE"; lettering front and back Front and rear accommodate two rows of custom lett Improved adjustable hook and loop side openings Microphone tabs on both sides

Pencil holders on both front cross straps 340 is ANSI 107-2010 Class II CERTIFIED version (2



586MFL-HIVS Liberty Reversable Rain Coat

FABRIC: 100% polyester Waterproof back coating and sealed seams Reversible fluorescent yellow to black Light weight for comfort Generously cut body and sleeves Removable and reversible hood with visor and draw (Snap front with hidden zipper ANSI 3 compliant. 2" silver reflective tape around boc and over shoulder on the fluorescent yellow side Two "pass through" slash pockets Badge eyelets on both sides Adjustable sleeve snaps





Point Blank Hi-Lite Body Armor Material:

Lightweight, durable microfiber outer material with of Protection Level: Provides NIJ .06 Level II ballistic prowhen paired with the corresponding ballistic systems, defending against handgun rounds and ballistic fragn Weight: Lightweight without ballistic panels (exact we depends on size and configuration) **Compatibility:**

Compatible with Trauma inserts and SPEED plates Includes a top external loading internal plate pocket v profile hook/loop closure

Comfort Features:

Split-shoulder design for easy access to adjustment Anti-microbial and moisture-wicking mesh liner for brocking Adjustability:

Self-Suspending Ballistic System (SSBS) helps preve and sagging, maintaining optimal placement of the ba Split shoulders and elastic side straps allow for easy adjustments, ensuring a secure and comfortable fit **Certifications & Ratings**

NIJ 0101.06 Ballistic Options available at Level II, me Compliant with anti-microbial and moisture-wicking performance standards for comfort and hygiene

range of

Jasses

l off the fabric

.

ı a 7" invisible

;ide ¼"

Shell

1 F 1671

separately

sistant ibility st to

ering

28"; long)

cord.

Jy, sleeves

otional otection

, nents ≯ight

with a low-

ooints eathability

ent rolling allistic

eting